
Transition Colour by Numbers Calculating the Mean Answers
Calculate the mean for 
each of the data sets, 
then use the key to 
find out which colour 
to shade that section.

 

For example:  5, 7, 3   

5 + 7 + 3 = 15

15 ÷ 3 = 5 

Colour this section 
orange.
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Transition Colour by Numbers Calculating the Mean
Calculate the mean for 
each of the data sets, 
then use the key to 
find out which colour 
to shade that section.

 

For example:  5, 7, 3   

5 + 7 + 3 = 15

15 ÷ 3 = 5 

Colour this section 
orange.

Orange

4 - 8

Green

14 - 17

Blue

1 - 3

Brown

9 - 13

Yellow

18+

2, 0, 7

7, 14, 21

17, 16, 18

25, 5, 0, -2, 47

3, 50, 6, 5

1, 3, 2, 1, 1, 4

8, -1, 9, 4, 11, 3, 1

12, 6, 3, 1911, 18, 6, 5, 20

13, 2, 7, 20, 13

18, 3, 9, 6

21, 11, 20, 0

5, 3, 2, 6, 4

7, 2, 3, 4

100, 1, -80

4, 44, 17, 27

9, 11, 1

12, 0, 4, 2, 7

16, 2, 4, 10, 0, 4

4, -4, 2, 2
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